Figures 1, 2, and 3
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Note that 4:1 siope is greater than (steeper than) 10:1 siope.
-4:1 is equivalent to 14 degrees or 25 percent.
- 10:1 is equivalent Lo 6 degrees or 10 percent.
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Legend - Figures 2 and 3 are not to scale

100 year flood elevation (as shown on mm Coastal Bank
community FIRM) or storm of record
mma  Land subject to coastal storm flowage o Toe of bank which lies at the landward
(LSCSF) edge of a coastal beach, land subject to

tidal action, or other wetland



Figures 4,5, 6, and 7

Top of Bank
/ v

Top of Bank

v

\ Top of Bank

Figure 5

Figure 4

Top of Bank

No Coastal Bank Exists

v
4

/'

LSCSF

Top ol Bank
& "

Bank M
240 ,
<101

Figure 6 Figure 7

Legend - Figuresd, 5, 6, and 7 are not to scale

v 100 year flood elevation (as shown on B Coastal Bank

community FIRM) or storm of record
®  Toe of bank which lies at the landward

MR Land subject to coastal storm flowage
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